Alg. 1 Ch. 3 Understand Graphing Linear Functions - Study Guide 3.4-3.7 .

1. T can graph linear functions.
I can graph linear functions using discrete and continuous data. /0 -
I can graph equations of horizontal and vertical lines. #:
I can graph linear equations in standard form using the x- and y—lm‘er'cepfs 4 3 A,
_I can find the slope of a line given two points. Z
Tcan graph finear equahons in slope-intercept form 5.l i
2. I can write and analyze linear equations that model/f:t data. 7.0/
3. I can describe transformations of graphs of finear funchons s, ;7

" 4.1 can graph absolute value functions. /2,5

poy'

d. ‘horizontat stretch bya fa

I can graph absolute value functlons by :den’rlfymg the vertex and pfoﬁmg pom'rs on
o elther' side. .
I can graph absolute value funchons by identifying 1he ver’rex and usmg the slope of
the rays. _
_ I can graph-absolute value functions using vertex form and transformations.
5. I can describe transformations of graphs of absolute value functions./z, 7

. Consider ihe parent function fx} - }x{. Which transformations occurred to create g(x) = —5|x - 3| ~ 67

(a) horizontal translation 3-unigs right - vertical translation 6 units down
(b)) reflection in the x-axis vertical translation 6 units up
() vertical stretch by a factor f § © g reflection in the y-axis

of S . h. horizontal translation 3 wnits feft .

- You speﬂd $3 50 on ﬁuzt Apples cost $O 20 e&c}i whde omﬂges cost $0 30 e&ch The equa&on

0.20x+ 0.30y = 3.50 models the situation, where x is the number of apples and y is the number of oranges

‘Which of the followmg ismot a possﬂ)le solution in the context of the problem? -

- a. 1apple; 11 oranges“l/ e o @ 11 app‘les lorange

. 7 apples; 7 oranges 4 apples; 9 oranges
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6y .26+ 3% =35 ) 0 270 250

b)-[‘ﬁa- + ;2". 10 =3 50
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3. Which statements are true about the function - =27

The y-mtercept is —2 o The graph of the functmn is:
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. Thewimercepiis ~2. 7§ Theyinterceptis 2.

Find and 1dent1fy the x- and y-intercepts of the graph of the linear equation. List the intercepts as
ordered pau's. Be sare to put the equauon in standard forni ifiei is mot alrmdy in that form
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" The points represented by the table lic on a line. Find the slope of the line using the formula for slope.
Be sure I can see your substitution.

x/—? :‘;\)-l il- 'm:.—!d?"d' = -1 = 32 - : |
7 4/1 ) SHRm¥ =35y 2

| x 2)('2‘ 2 2] = 3-(-6) _;_.S- wndefined. Slope
1y —6{/3/—7 iy 2-2 L
Eib .o ixn IR

Graph tlle lmm eqnatmn using the mqnested method.
9. x- ’_*.y ﬁ by ﬁndmg amlplottmgthe. p -2 and.ynmcept. Be sure to lst the i mtexce.pts as POINTS.
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10. y= —% *+1 Use the slope and y-intercept to graph this line.

N2 _\lj-'l“'l (O )

A
4
x ¥

g e

e g e

Lﬁ . a e ""ﬁﬁ’ L TP o




- 1L

The function ¢ = 0.30% + l-ﬂﬂ represents the cost ¢ (in dollars) of renting a car after driving m miles.
a. [Identify the independent and dependent variables. - )
indundend vareble < rales driver
dﬂ{’mM' vmabl& = COer i aLa | [aurs
b. What would the cost be to rent the car and dnve 100 mlles‘?

e =, 5(\00)-1—!00 . T wou,td 005+4'130 J® dm\&

¢ = 30-H00 _ :
« =120 - Jcmc:u!ooms

¢. How many miles would a customeér have to dnve for the cost to be $149 50‘7 S

48,5 =, 3m +100 Awsbw&r would hw& -
H4.5 =, Bm 1y drivie 15 miles «fw“"w
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" Describe the slbj)e of the line. 'i‘heh find the slope. No work necess'al_'y..
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- Jdentify the slope, y-intercept, and x—intercept of the graph of the linear equation.

13.

14.

5x+3y=15
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15. A group spends $180 for x ski passes and y swim passes at arresort.

Ski pass $18

Swim pass | $9

ki a.S‘.}CS‘
oA Wnte an equation in standard form that represents -the sifuation. ')f =4 "'C s P
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_ 16 ‘A meteor is falling to the ground. 'I‘he helght y{in meters) of: the meteor after x seconds is -
S - h(x) = —lﬂﬂx+ 3000, . .
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b Interpret the x—mtercept and slope. " seconds
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Use the graphs of f and g to d&cribe the transformation from the graph of f to the gmph of g.

| =17

\ I %4 fi ) . | . | ] |
¥ 3[,7() s 0o m\c[ec;hm WW j/ ONMAS,
(glx ) [_;(X)|=2x+1} o ;
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Use the graph of fand g to describe the tr;ansfoﬁnaﬁdn‘ from the graph of 'f to the graph of g
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19 Use the equatlons to describe the transformations from ftog. ﬂx) =-x+5 g = 2}‘{;)'

gm s o \le,\f‘n‘cod ewroh bﬂ {mw&c 2 of %A

> 20. Let £z} =2x~3 and g(x) = Ax+3). Use the graphs and equatlons of fand gto descrlbe the transformation
- _from the graph of fto the graph ofg
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21 gl=]m-2 gkt (2.0 g0

23, g®)=|x]+3 --,:(@\,%\'\;wu“

Compare the graph to the graph of f{x) = | x |- Determine the domain and range.

F.

Graph the function (use your breferred method but make sure I can tell what method you are using).
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